%Mf@ﬂ zur /%%fwﬁ{fé (7 Wreﬂ%&w/?a/

1. / [ ﬁ B ’ Bestinrenre
1 &l 2)AUB\ C

‘va ]| €FIBUC\E
)R 8) VBN
‘ (AN C)

2.) Bestume ofe Loswrssmsege &0
4) Zx%'?—r/x«Z)-_:ZX-ffﬂ
4) Yx +5-(x=¥) = F + 3x

3. ) losg wicf ﬁ//M:@rfcﬁﬂ%@f

a) ax + 5§ = I +12
Z) ax — ¢ = 4 —3x

4‘-) Welches: Term s el 2w 3;;24;

, 3
AWl eren, L2 @f;———é Zer e/ eer 7

Musterlosungens: 1.4) F1:4:6: 0] (8) {34589 () [2:4
Z.a) 2X+0=2x+10 — [ =R

) 3x+9=3x+% — [={f
3. a) X= 7/[4""2)/ ween A 2 I:{] wenn A=2

— (8+3) ffp+3) wenn a£-3, L=[§wenn A=-3
'g/ ):mq(, ‘i’;/<7 Z =R, wenn 4/’:-:—'3%«/ A =—7

¢) [(5a+34)/5 - [[/Za -24)/%] = (a/22)+€

www.mathepauker.com






